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#include "stdafx.h"
#include <windows.h>
#include <tlhelp32.h>
#include <tchar.h>

DWORD get parent_processid(DWORD pid)//3REXig & BEFE I FHFEID
{

DWORD ParentProcessID=-1;

PROCESSENTRY32 pe;

HANDLE hkz;

HMODULE hModule = LoadLibrary(_T("Kernel32.d11l"));
if (hModule == NULL)

{

OutputDebugString(_T("Load dl1 error"));

return -1;

}
FARPROC Address = GetProcAddress(hModule, "CreateToolhelp32Snapshot");

if (Address == NULL)

{

OutputDebugString(_T("Get Proc error"));
return -1;

}

asm

{
push @

push 2
call Address
mov hkz,eax

}

pe.dwSize=sizeof (PROCESSENTRY32);
if (Process32First(hkz,&pe))

{

do

{
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if (pe.th32ProcessID==pid)//#EIDIKZI

{
ParentProcessID=pe.th32ParentProcessID;
break;
}

}

while(Process32Next(hkz,&pe));

}

return ParentProcessID;

}

DWORD get_explorer_processid()
{

DWORD explorer_id=-1;
PROCESSENTRY32 pe;

HANDLE hkz;

HMODULE hModule = LoadLibrary(_T("Kernel32.d11"));
if (hModule == NULL)

{

OutputDebugString(_T("Load dl1l error"));

return -1;

}

FARPROC Address = GetProcAddress(hModule, "CreateToolhelp32Snapshot");

if (Address == NULL)

{

OutputDebugString(_T("Get Proc error"));
return -1;

}

asm

{

push ©
push 2
call Address
mov hkz,eax

pe.dwSize=sizeof (PROCESSENTRY32);
if (Process32First(hkz,&pe))
{
do
{
if (_stricmp(pe.szExeFile,"explorer.exe")==0)
{
explorer_id=pe.th32ProcessID;
break;
}
}
while(Process32Next (hkz,&pe));

}

return explorer_id;

}

int main(int argc, char* argv[])



}

DWORD explorer_id=get_explorer_processid();
DWORD parent_id=get_parent_processid(GetCurrentProcessId());

if (explorer_id==parent_id)

{

printf("the parent process is explorer\n");
}else{

printf("the parent process not explorer\n");
}
getchar(9);
return 0;
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